BIOBOWL 2

Cell Signaling – Chapter 9 

1. A type of signaling, in which a hormone circulates throughout an animal is _______________ signaling.  

2. The type of signaling, in which a molecule that is secreted from a cell acts back on the same cell is _____________ signaling.






3.What kind of receptor is used by acetylcholine, a neurotransmitter?    








4. The receptor for a hydrophilic signal is found where?



5. The receptor for a hydrophobic signal is found where? 



6. A non-polar hydrophobic signaling molecule, when bound to its receptor, usually has the end result of what activity inside of the cell?      

7. A protein that binds GTP and is activated by a receptor is known as a         

8. What is a cascade, when referring to effects of a signal in a cell?

9. A protein kinase is an enzyme which transfers a ________ group to a target protein   

10. Indirect transduction requires the use of a _________

11. How is cAMP made & by what enzyme?    

12. What is the role of cAMP in a cell?



13. Give an example of a 2nd messenger molecule: cAMP, DAG, IP3, Ca

14. How does an enzyme linked receptor work?

15. What happens when an enzyme is phosphorylated?

16. What ion increases in the cytosol of a cell when IP3 is produced?

17. The type of signaling in which a cell’s secretion affects immediately adjacent cells is:
18. The reason why one cell in an organism will respond to a signal while another one will not, is probably because ____________________.

Chapter 7 – Energy and Enzymes

19. T or F. A reduction is usually (but not always) endergonic.



20. Glucose oxidation is an ______________ process.




21. Free energy is defined as


a. energy of motion


b. kinetic energy


c. disorder


d. energy available to do work





22. In spontaneous reactions, ____________usually increases.



23. Exergonic reactions are characterized by a _________ delta G



24. An example of a coenzyme is


25. An example of a cofactor is 





26. T or F – Enzymes convert endergonic reactions into exergonic ones. 

F
27. T or F. All enzymes have at least tertiary structure.




28. A competitive inhibitor binds to an enzyme at __________            

29. ______________ are small mobile organic molecules which work with enzymes.    

30. The coenzyme usually associated with a dehydrogenase, such as alcohol dehydrogenase is:       

31. Coenzymes are made of _______________ (type of molecules)     

32.  Catalysis occurs at the ______________ of the enzyme.


33. Enzymes work by lowering the __________________        

34. IN the reaction:  A( B( C( D( E(F( citrate, what is likely to inhibit enzyme 1 (reaction A ( B)?   
35. Where does a non-competitive inhibitor bind on an enzyme molecule?  

Cell Respiration – Chapter 7

36. An anerobic process which produces 2 pyruvates, 2 NADH is ______________.
37. The amount of ATP used in glycolysis per molecule of glucose is _________.
38. The net amount of ATP produced in glycolysis is _____________.
39. The majority of NADH is produced during __________________

40. The majority of ATP made during aerobic oxidation of glucose is made during which process?

41. An example of a molecule in the electron transport chain of mitochondria is

42. A yeast cell, if forced to oxidize glucose anerobically, would produce: _________
43. The diffusion of protons through ATP synthases is known as _________________
44. When pyruvate is oxidized to __________, this molecule enters the Kreb’s cycle.

45. As a result of electron transport in mitochondria, protons accumulate in the

46. When acetyl-CoA combines with oxaloacetate, it forms 6-C ___________.

47. How many molecules of ATP are generated from cell respiration (whole process) using one glucose molecule?

48. When fermentation occurs, _______________ is oxidized so glycolysis can continue.

49. During which major pathway is CO2 produced?

50. What is the final oxidizing agent during oxidative phosphorylation?

51. What is the prosthetic group in a cytochrome molecule?

Chapter 8 – Photosynthesis

52. What is the relationship of oxygen to photosynthesis?

53. Put these in the correct order for non-cyclic electron flow:  PSI; PSII, NADP, water, cytochrome complex, Fd.

54. In cyclic photophosphorylation, the product is 

55. The wavelength of light most effective in activating the reaction center of PS I  is
56. The reaction centers of photosystems are composed of ___________ molecules

57. Where do protons accumulate during the light dependent reactions?
58. Where in a C3 plant cell does the Calvin cycle take place? (be specific)

59. What enzyme fixes CO2 in a C-3 plant?

60. What is the CO2 acceptor in a C3 plant?

61. Where does the Kreb’s cycle take place in a plant cell?

62. What is the enzyme that fixes CO2 in a C4 plant?
63. Where does CO2 fixation occur in a C4 plant? (which cells?)

64. Where is the Calvin cycle taking place in a C4 plant?

65. PG ( G3P is a reaction which takes place in which metabolic pathway? (be specific)

66. What products of the light reaction are required for the “dark” reaction?

67. What is the reducing agent in the Calvin cycle?

68. To produce one molecule of glucose from 6 CO2, how many molecules of water are actually used?

69. In which places do you find ATP synthase in a plant cell?

70. Where does chemiosmosis occur in a plant cell?

71. (Sec. 81 only) The dumping of iron into the southern oceans was meant to increase the amount of _______________ living there. 

72. (Sec. 81 only) Iron, S and Mo are used as cofactors in which enzyme?
